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 Q28.  Draw a labeled diagram of a moving coil galvanometer. State the principle on which it works.  

Deduce an expression for the torque acting on a rectangular current carrying loop kept in a uniform 
magnetic field. Write two factors on which the current sensitivity of a moving coil galvanometer depends. 

Answer:  

 

Principle  :(  Based  on  the  principle  of  the  force  of  interaction  between  the 
current  carrying  conductor  and  a magnetic  field)  A  coil  is  suspended  in  a 
magnetic  field. The  current  to be measured  is passed  through  the  coil. The 
current  through  the  coil produces a magnetic  field which  interacts with  the 
given magnetic field in which the coil is suspended. Due to the interaction the 
coil  gets  deflected  and  measuring  the  angle  of  rotation  current  can  be 
calculated.  

A circular or rectangular coil of about 10 to 15 turns of a fine insulated copper 
or aluminium wire  is  suspended  from a  torsion head T, by means of quartz 
fibre  in between the concave pole pieces of a strong magnet. The  lower end 
of the coil is attached to a light springs which brings the coil back to its original 
position when the current is stopped. The suspension wire and the spring are 
connected with  two  terminal  screws at  the base which acts as  the  leads of 
current. The whole thing  is enclosed  in a metal box provided with glass  face 
and  is  supported  on  leveling  screws.  The  angle  of  rotation  of  the  coil  is 
measured by  lamp & scale arrangement, reflection takes place from the tiny 
mirror M attached with the suspension wire. 

 

   

The force on the two vertical wires ‘cd’ and ‘ef’  by using equation(1) are found to have magnitude  
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Applying the right hand curl rule for vector product the directions of the force are as shown in the figure. 
These two forces being equal in magnitude, opposite  in direction parallel and non co‐planer constitute a 
couple. 

 

Due  to  this  torque  the  coil  rotates  a  restoring  couple due  to  the  torsion  rigidity  sets  in  and when  the 
restoring couple equals to the deflecting couple the coil comes to equilibrium 

 

 

The current sensitivity of a moving coil galvanometer depends on  

(I) Number of turns in the galvanometer coil. 
(II) Torsional constant of the suspension fibre.  
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Or, 

State Biot‐Savart law. Use it to derive an expression for the magnetic field at the center of a circular loop 
of radius R carrying a steady current I. Sketch the magnetic field lines for such a current carrying loop.  

Answer: Biot‐Savart Law : It states that the magnetic field ݀ܤሬԦ due to a current element dl carrying a 
steady current I at a point P at a distance r from the current element is          

  dBሬሬԦ ൌ µబ
ସ஠
 Iୢ௟ 

ሬሬԦൈ୰ሬԦ 
୰య

                 

  ฺ dB ൌ µబ
ସ஠
 Iௗ௟ ୱ୧୬ ఏ

୰మ
    

Where θ is the angle between the direction of the current and the line joining the current element.  

Magnetic Field at the center of the circular Coil/Loop Carrying Current:  

 

 

 

We have a circular coil of many  turns a current  flows  through 
the coil . We have to find the magnetic field at the centre of the 
coil due to the current through the coil. 

Given 

i = current flowing through the coil 

a =radius of the coil 

n = number of turns in the coil 

Let us choose a right handed system of mutually perpendicular 
axes X,Y and Z as follows. The plane of the coil is represented by 
Y‐Z plane and X‐axis  is perpendicular to the plane of the coil at 
O. 

Let us consider an element of the coil at A of length dl. The axis 
of the element  is along Z‐axis  i.e. dl  is along Z‐axis using Biot’s 
law the magnetic field at O due to the current element at A 
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Applying the right handed curl rule for vector product the direction of the magnetic field is along X axis in 
the figure.If we consider the element at different points along the coil it is found that for every position of 
the element  the direction of  the magnetic  field at  the centre O along X‐axis. Since  the direction of  the 
magnetic  field  at O  is  same  for  every position of  the element hence  vector  addition  reduces  to  scalar 
addition and resultant magnetic field at O can be obtained by integrating equation(2) 

 

Equation (3) gives the magnitude of the magnetic field at the centre of the circular coil carrying current. 

 

Direction of Magnetic field: 

 

 

 

The direction of the magnetic field at the centre 
which is found to be along X axis can be stated as 
follows : 

 

 

” Curl the finger of right hand in the direction of 
current in the coil the thumb gives the direction of 
the magnetic field” 

 

 

 

 
 
 
 
 
 
 
 
 


